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5 The cubic equation x* + 3x> — 7x + 1 = 0 has roots o, fand 7.

(i) Write down the values of o+ B+ y, o+ By+ yor and ofy. (2]

(ii) Find the cubic equation with roots 2¢, 23 and 2y, simplifying your answer as far as possible.

[4]



i> L+R4+YF = -3
(Q+pF+ It = — 71
LY = =

ii> S 2« = Z_°(+2ﬂ'f'2b/: ZCN*A’*)()

- 2(-7)
= -6
£2«28 = 2<¢2g 4+ 21T A+ 1/52(f
= 4(xgex 8+ L)
- 4(-1)
= ~ 2%
2.42./32(1" = g“,ﬁx
= &(-4)
= =K

Me ELed 2 ) et w = 2=x<
W - oy
2
C/« +3(2) - 2(R)+1 =0
\i + 3w Y 4+ = O

<4 ? anaé



4 The quadratic equation x> — 2x + 4 = 0 has roots a and S.

(i) Write down the values of a+ g and ap. (1]
“Jom 0S5
(ii) Hence find the value of a2+ B2. (2]
(iii) Find a quadratic equation which has roots 2¢ and 28. 2]
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